**Tabulation of Bids** Page 1 of 3

Contract ID: 026077.00 Counties: AROOSTOOK Maine Department of Transportation

Letting Date: May 15, 2024 District(s): NORTHERN REGION A True Copy:\_\_\_\_\_\_

Call Order: 4 Project(s): 2607700 Title:

Contract Time: 08/15/24 COMPLETION DATE

Attest:

Contract Description: INTERSTATE 95 SOUTHBOUND AND NORTHBOUND REGION 5 BRIDGES.

Notary Public

Line No / Item ID Item Description			(1) AMSTAR OF WESTERN NEW YORK, INC.		(2) PANTHER INDUSTRIAL PAINTING LLC				
Alt Set /	/ Alt Member	Quantity	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 INITIAL GF	ROUP		Cat Alt Set:	Cat Alt Member:	LCC:			
0010	506.144	(400000)	(400000)	100,000.00000	100,000.00	320,000.00000	320,000.00		
	INTING NEW AND S STRUCTURAL STEEL B)	LB	LB						
0020	506.17	(400000)	(400000)	787,240.00000	787,240.00	620,000.00000	620,000.00		
	E PREPARATION OF S STRUCTURAL STEEL B)	LB	LB						
0030	506.18	(400000)	(400000)	218,000.00000	218,000.00	260,000.00000	260,000.00		
	MENT AND POLLUTION L (400000 LB)	LB	LB						
0040	506.191	(400000)	(400000)	2,000.00000	2,000.00	5,000.00000	5,000.00		
	L OF SPECIAL WASTE OR DUS WASTE MATERIAL B)	LB	LB						
0050	527.33	4.000	4.000	500.00000	2,000.00	100.00000	400.00		
TRUCK M	OUNTED ATTENUATOR	EA	EA						
0060	639.18	1.000	1.000	3,500.00000	3,500.00	10,000.00000	10,000.00		
FIELD OF	FICE TYPE A	EA	EA						
0070	652.30	4.000	4.000	10.00000	40.00	50.00000	200.00		
FLASHING	G ARROW BOARD	EA	EA						
0800	652.312	12.000	12.000	10.00000	120.00	1.00000	12.00		
TYPE III B	BARRICADE	EA	EA						
0090	652.33	120.000	120.000	10.00000	1,200.00	1.00000	120.00		
DRUM		EA	EA						

## **Tabulation of Bids**

Counties: AROOSTOOK

A True Copy:\_\_\_\_\_

Maine Department of Transportation

5/15/2024

Letting Date: May 15, 2024 District(s): NORTHERN REGION

Title : \_\_\_\_\_\_

**Call Order:** 4 **Project(s):** 2607700

N. Handi

Contract Time: 08/15/24 COMPLETION DATE

026077.00

Contract ID:

Line No / Item ID Item Description			(1) AMSTAR OF WESTERN NEW YORK, INC.		(2) PANTHER INDUSTRIAL PAINTING LLC				
Alt Set / Al	It Member	Quantity a	and Units	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION:	1 INITIAL G	GROUP		Cat Alt Set:	Cat Alt Member:	LCC:			
0100 65	52.34	120.000	120.000	10.00000	1,200.00	1.00000	120.00		
CONE		EA	EA						
0110 65	52.35	1,200.000 1	,200.000	2.00000	2,400.00	0.10000	120.00		
CONSTRUC	TION SIGNS	SF	SF						
0120 65	52.361	(180)	(180)	26,000.00000	26,000.00	100,000.00000	100,000.00		
	ICE OF TRAFFIC DEVICES (180 CD)	CD	CD						
0130 65	52.38	3,000.0003	,000.000	1.00000	3,000.00	1.00000	3,000.00		
FLAGGER		HR	HR						
0140 65	52.381	300.000	300.000	1.00000	300.00	10.00000	3,000.00		
TRAFFIC OF	FICER	HR	HR						
0150 65	52.55	(1)	(1)	2,500.00000	2,500.00	100.00000	100.00		
TEMPORAR	Y SOUND WALLS	LS	LS						
0160 65	56.75	(1)	(1)	500.00000	500.00	100.00000	100.00		
	Y SOIL EROSION AND LUTION CONTROL	LS	LS						
0170 65	59.10	(1)	(1)	30,000.00000	30,000.00	110,000.00000	110,000.00		
MOBILIZATIO	ON	LS	LS						
	Section Totals:				\$1,180,000.00		\$1,432,172.00		
Lif	ife Cycle Costs:								
Section Total with LCC:					\$1,180,000.00		\$1,432,172.00		
Contract Item Totals					\$1,180,000.00		\$1,432,172.00		
Contract Time Totals									

**Tabulation of Bids** Page 3 of 3

Maine Department of Transportation Contract ID: 026077.00 Counties: AROOSTOOK A True Copy:\_\_\_\_\_ **Letting Date:** May 15, 2024 District(s): NORTHERN REGION Call Order: Project(s): 2607700 **Contract Time:** 08/15/24 COMPLETION DATE Attest: \_\_\_ Notary Public Contract Description: INTERSTATE 95 SOUTHBOUND AND NORTHBOUND REGION 5 BRIDGES. \$0.00 **Contract Life Cycle Costs Totals** \$0.00 \$1,180,000.00 \$1,432,172.00 **Contract Grand Totals** 

() indicates item is bid as Lump Sum

## **Maine Department of Transportation**

**5/15/2024** Page 1 of 1

## **Vendor Ranking**

Call Order: 4 Contract ID: 026077.00 Counties: AROOSTOOK

Letting Date: May 15, 2024 11:00 District(s): NORTHERN REGION

Contract Time: 08/15/24 COMPLETION Min: Max:

DATE

Contract Description: INTERSTATE 95 SOUTHBOUND AND NORTHBOUND REGION 5 BRIDGES. Project(s): 2607700

	Rank	Vendor ID/Name	Total Bid	Percent Of Low Bid
1	001840	AMSTAR OF WESTERN NEW YORK, INC.	\$1,180,000.00	100.00%
2	004205	PANTHER INDUSTRIAL PAINTING LLC	\$1,432,172.00	121.37%